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2016 “ 2017 H,0, : KMnO,
” , Caz+ : Caz _
€ ) . CaC,0,—H,C,0, KMnO,
2017 : : K, Cr, 0,
.2017 . . .
2018 . 3.(2017 )
. H,S0, KMnO,
:MnO, +H" + H,C,0, >Mn*" + CO, + H,0.
0. 400 g
o 0.0500 mol * ™" KMnO, 36.00 mL
1.(2016 ) Ca0, * 8H,0 n( KMnO,) = 1.80 x 10" mol
100.00 mI. 0, > MnO( OH), 1,  5Ca’" ~5H,C,0, ~2KMnO,  n(Ca’") =4.50 x
S,0% . » 10 *mol 4.50 x
5406 0.01000 mol » L"Na, 103 40/0.400 x100% =45.0% .
S,0, 13.50 mL. 4.(2017 n
-1
( mg-L ) o : Mn( OH) , (
2.(2016 ) KI) MnO( OH) , MnO( OH) ,
DO 5 mg/L. Na,S,0 . .
4.50 mL i DO = /L S : Mo’ M504
S - et (28,00 +L,—=21" +S,027) . 100.00 mL
DO ?
> Na,CO, 15 kg CaCl, Na,CO, 40 ¢ 25 g
pH ; pH
Na, CO, pH >7( Na, CO, 1.
) o (1) 1
15 kg - (2) CaCl, lg 10 15 20 25
Na, CO, 15 kg — 10 kg =5 kg. pH 12 10 7 3
CaCl, (1) pH =
’ . (2) .
° NaOH pH >7;
° pH 20g
N pH=7; HCl  25¢g
4 pH <7, ( 12017 —06 - 18)
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